Jonkopings lans BF

DM lag 2019 8:2

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poang Namn MID Klubb
1 104 3.15 Jonas Andersson - Johnny Petersson 52637 10420 Anderstorps BK - Varnamo BK
2 302 2.99 Katarina Johansson - Stina Lysebring 33743 49220 Varnamo BK
3 201 1.49 Leif Lysebring - Lars Wallmark 10391 6908 BK Opalen
4 101 0.79 Johan Erlandsson - Alf Roos 17710 92856 Véarnamo BK
5 103 0.36 Anette Svenningsson - Bilal Zafar 10269 59699 BK Opalen
6 3 0.12 Lisbeth Quisth - Christina Bjerklin 87306 15096 BK Opalen
7 4 0.05 Sven Karlsson - Curt Petersson 82049 9118  Varnamo BK
8 2 0.01 Rose-Marie Jarl - Gunilla Ahlander 10408 10390 Véarnamo BK
9 202 -0.01 Vivi-Anne Malmgvist - Tommy Malmgqvist 52956 52955 BK Opalen
10 204 -0.05 Per Emilsson - Sune Loébo 53498 9428  Anderstorps BK
11 203 -0.12 Hans Lovestig - Mikael Alexandersson 5572 16748 BK Opalen
12 303 -0.36 Ann-Kristin Hultgren - Henry Alfredsson 19069 17429 BK Opalen
13 301 -0.79 Lars Hermansson - Bo Gisslander 89595 51029 Bredaryds BK
14 1 -1.49 Sdren Axelsson - Bjorn Hjelmgren 8192 6991  Bredaryds BK - Anderstorps BK
15 102 -2.99 Liselotte Fondelius - Bjorn Ekblom 21498 32366 BK Opalen
16 304 -3.15 Gunnar Agren - Sigvard Holmstrém 751 850 Varnamo BK
13 ~Kn8 Bésta kontrakt 14 a75 Bésta kontrakt 15 & K7 Bésta kontrakt
Nord v 1086532 6v N =1430 Ost v KKn54 3v S =140 Syd vD1043 6NT S = 1440
Alla +D1064 Ingen + D973 NS + E653
*9 & ¢ v & NT #1073 & ¢ v & NT *K95 & ¢ v & NT
4 D7652 494 N 6 11129 6 4 K1098 &Kn32 N6 6 857 410953 4 Kn864 N 1210129 12
vKn7 vD9 S 6 1112106 v 932 vE6 S 66 9 6 8 v95 v EKn6 S 1210129 12
¢ Kn983 ¢ 72 071131 + K6 ¢Kn10854 O 7 7 4 7 5 + K84 410972 013141
&52 #EKD10876 V 7 1 1 3 1 &#EKN92 #654 V77465 #8632 &Kn7 V13141
4 EK103 4« ED64 4 ED2
vEK4 vD1087 v K872
+ EK5 ¢E2 ¢ DKn
#Kn43 »KD8 #ED104
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
104 304 6vy N= &A 1430 95.0 -95.0| 2 202 INS+2 #9 150 9.0 -9.0| 2 202 3NS+3 v9 690 8.0 -8.0
1 201 4v N+2 «K 680 8.0 -8.0|103 303 INS+2 #2 150 9.0 -9.0| 3 203 3NS+2 45 660 0.0 0.0
2 202 4v N+2 «K 680 8.0 -8.0 1201 INS+1 #2 120 1.0 -1.0 1 201 4v S+1 45 650 0.0 0.0
3 203 4v N+2 #«A 680 80 -80| 4 204 INS+1 49 120 1.0 -1.0| 4 204 5vS= «T 650 0.0 0.0
4 204 4v N+2 #A 680 8.0 -8.0|104 304 INS+1 #2 120 1.0 -1.0|101 301 4v S+1 #3 650 0.0 0.0
101 301 4y N+2 #A 680 8.0 -80| 3203 INS= 49 90 -7.0 7.0/103 303 4v N+1 «T 650 0.0 0.0
103 303 3v N+3 «A 230 -62.0 62.0|101 301 INS= 49 90 -7.0 7.0(104 304 4v N+1 «J 650 0.0 0.0
102 302 24 S+1 #5 140 -73.0 73.0102 302 INS= 49 90 -70 7.0(102 302 3NS+1 45 630 -8.0 8.0
16 49875 Bésta kontrakt 17 « KD8 Bésta kontrakt 18 & EKn Bésta kontrakt
Vast vDKn3 4y V =-620 Nord v K1093 44 N =130 Ost vE3 74 S =2140
oV ¢ DKn3 Ingen +3 NS + EDKn10532
*Kn64 & ¢ v & NT #K9854 & ¢ v & NT &D7 & ¢ v & NT
4Kn 4 D1063 N3 33514 a4 4Kn10632 N 104 6 8 7 4D7432 496 N 13129 1112
vE105 vK762 S 33354 vEKNn65 v742 S 104 6 8 7 vD84 vKn9762 S 13129 1112
¢ E1097 ¢ K65 O 1010108 9 ¢ ED1094 + K876 038656 ¢ 74 + K986 001421
#ED872 4103 V 1010108 9 #Kn103 &D V38656 #9032 *84 Vo0o1l1421
& EK42 4 E975 4 K1085
v 984 vD8 v K105
¢ 842 ¢ Kn52 ¢-
#K95 *E762 #EKKn1065
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
103 303 INV= vQ -90 20.0 -20.0| 2 202 44S= ¢A 130 240 -240| 3 203 6NN+1 9 1470 43.0 -43.0
104 304 2v O= v4 -110 140 -14.0(101 301 4« N= ¢7 130 24.0 -24.0(103 303 6NN= 6 1440 37.0 -37.0
1201 2NV= ¥vQ -120 13.0 -13.0(104 304 3#N= ¢6 110 16.0 -16.0 1 201 6¢ N= &8 1370 23.0 -23.0
2 202 2¢ V+2 v2 -130 10.0 -10.0| 4 204 3v V-2 &4 100 16.0 -16.0| 2 202 64 N= &8 1370 23.0 -23.0
101 301 2v O +1 v4 -140 6.0 -6.0| 3 203 44 N-1 ¢7 -50 -15.0 15.0|101 301 6¢ N= &3 1370 23.0 -23.0
102 302 2v O +1 4 A -140 6.0 -6.0|102 302 24 S-1 44 -50 -15.0 15.0|104 304 6¢ N= &6 1370 23.0 -23.0
4 204 2¢ V+3 49 -150 5.0 -5.0|103 303 34 S-1 vA -50 -15.0 15.0| 4 204 3NS+3 44 690 -61.0 61.0
3 203 3NO+1 4 A -630 -74.0 74.0 1 201 3NN-3 42 -150 -35.0 35.0({102 302 6¢ N-1 %2 -100 -111.0 111.0
19 410 Basta kontrakt 20 4 KKn874 Basta kontrakt 21 & E642 Basta kontrakt
Syd v 1062 54 V =-650 Vast vEK 44 N =620 Nord v 963 5¢v O =-450
(6)) + Kn1083 Alla +52 NS +D9
#ED987 & ¢ v & NT #KKn72 & ¢ v & NT #8432 & ¢ v & NT
4 DKn96532 4 E8 N76226 4962 «D N6 7 7 107 4DKn109 47 N56 16 3
v EKD3 v Kn94 S76226 vKnl104 v9762 S6 7 7 107 v72 vKDKn10854S 5 6 1 7 3
+9 ¢ ED652 O5 7 9 116 + EK6 ¢+ D1094 0766 25 ¢EK642 ¢ Kn O 8 6 116 10
*5 #1042 V579 116 #9863 &ED54 V768625 *E9 #DKn76 vV 8 6 116 10
4 K74 4 E1053 & K853
v 875 v D853 vE
+ K74 + Kn873 ¢ 108753
#KKn63 «10 #K105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
102 302 4v V-1 &A 100 91.0 -91.0 1 201 44 N= v6 620 56.0 -56.0| 4 204 6v O-1 vA 50 63.0 -63.0
1 201 44 V+1 ¢ -650 -13.0 13.0(103 303 44 N= ¢4 620 56.0 -56.0(101 301 3NV-1 &4 50 63.0 -63.0
2 202 44 V+1 v2 -650 -13.0 13.0|104 304 44 N= 3 620 56.0 -56.0| 3 203 4v O= 3 -420 -16.0 16.0
3 203 44 V+1 vT -650 -13.0 13.0 2 202 24 N+2 v9 170 9.0 9.0|102 302 4v O= 45 -420 -16.0 16.0
4 204 44 V+1 T -650 -13.0 13.0( 3 203 34 N+1 v5 170 9.0 9.0|104 304 4v O= ¢3 -420 -16.0 16.0
101 301 44 V+1 ¢J -650 -13.0 13.0| 4 204 44 N-1 ¢9 -100 -50.0 50.0| 2 202 4v O+1 46 -450 -24.0 24.0
103 303 44 V+1 8 -650 -13.0 13.0|101 301 44 N-1 ¢9 -100 -50.0 50.0 (103 303 4v V+1 &8 -450 -24.0 240
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104 304 56 V= &A -650 -13.0 13.0(102 302 44 N-1 9 -100 -50.0 50.0 1 201 49y O+2 ¢7 -480 -30.0 30.0
22 & KD842 Basta kontrakt 23 a- Basta kontrakt 24 #7653 Basta kontrakt
Ost v10 54 S =450 Syd v 9832 INTV =-2220 Vast vD4 4y ND-1-100
oV + Kn10976 Alla + KD109742 Ingen * K2
#95 & ¢ v & NT »42 & ¢ v & NT #K10765 & ¢ v & NT
& E53 4976 N 4 108 106 ~E8 & KD972 NO5020 4E10984 & KKn2 N859 46
v D65 v Kn984 S 5 119 118 vKKnl05 vE7 S05020 v K85 v 763 S849 46
+D ¢ 543 06 2422 ¢+ 65 ¢ EKn3 O 128 121113 + D6 ¢+ EKn983 047 497
&#ED8432 #Kn76 V62422 #E10873 #KKn6 V 138 131113 D93 82 V47497
4 Knl0 4 Kn106543 D
v EK732 v D64 v EKn1092
+ EK82 +8 + 10754
K10 D95 &EKn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 203 5¢ S= &A 400 38.0 -38.0 3 203 6#V-1 ¢K 100 80.0 -80.0|101 301 4 N= &2 130 45.0 -45.0
103 303 5¢ S= «A 400 38.0 -38.0 4 204 34 O= +38 -140 53.0 -53.0(103 303 INS-2 &3 -100 -2.0 2.0
104 304 5¢ S= ¢Q 400 38.0 -38.0|104 304 34 O= +¢38 -140 53.0 -53.0 1 201 24 V= &3 -110 -2.0 2.0
2 202 3¢ S+2 «A 150 -8.0 8.0|103 303 3N O +1 4] -630 -14.0 140 2 202 24 V= vQ -110 -2.0 2.0
4 204 3¢ S+2 ¢Q 150 -8.0 8.0|102 302 3NO +2 ¢8 -660 -21.0 21.0(102 302 24 V= vQ -110 -2.0 2.0
101 301 3¢ S+2 «A 150 -8.0 8.0 (101 301 4v V+2 ¢K -680 -25.0 25.0(104 304 24 V= &6 -110 -2.0 2.0
1 201 3NS-1 #3 -50 -45.0 45.0 2 202 3NO+3 +8 -690 -25.0 25.0 4 204 34 V= &5 -140 -10.0 10.0
102 302 5¢ N-1 %6 -50 -45.0 45.0 1201 6NV= ¢K -1440 -101.0 101.0 3 203 24 V+3 &5 -200 -25.0 25.0
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